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This contribution makes a few comments for the sub-clause 7.2 and relevant proposals to resolve them.
1. Addition of a metric for energy unit
Rationale: 
The 3rd paragraph of the page 1 of the sub-clause 7.2 reads,




“The metric system chosen is the internationally recognized system 




Power unit: 
1 W = 1 kg m2 s-3




Energy unit:
1 J = 1 W.s







1kWh= 3 600 000 J





Mass unit:
1 kg or 1 t=1000kg




Volume unit:
1 m3=1000l”

There are various energy sources such as coal, diesel, petrol, biodiesel, Liquefied Natural Gas (LNG), etc. A transparent energy indicator is needed to evaluate them uniformly. This is the reason why the Tonne of Equivalent (TOE) was made and the power and energy industry has used it so far. The ICT sector needs to refer to energy consumption and the power and energy industry has given us energy consumption values in terms of TOE which is a unit of energy: the amount of energy released by burning one tonne of crude oil. Moreover, the ICT sector needs to convert a given TOE into Watt-hour or kWh. Thus, the metric system for ICT areas should include TOE-relevant metrics too. The IEA/OECD defines one toe to be equal to 41.868 GJ or 11,630 kWh.
Proposal: 
This contribution proposes to add TOE-relevant metrics as follows: 




“The metric system chosen is the internationally recognized system 




Power unit: 
1 W = 1 kg m2 s-3




Energy unit:
1 J = 1 W.s







1kWh= 3 600 000 J





1 TOE = 41.868 GJ, or 11,630 kWh



Mass unit:
1 kg or 1 t=1000kg




Volume unit:
1 m3=1000 l”
2. Addition of a metric for GHG emission
Rationale: 
They Kyoto proposal stated 6 major greenhouse gases: Carbon dioxide (CO2), Methane (CH4), Nitrous oxide (N2O), Sulfur hexafluoride (SF6), HFCs, and PFCs. Each has different Global Warming Potential (GWP) values and other greenhouse gases also have different values. Thus a uniform GWP indicator is needed and consequently Carbon Dioxide Equivalent (CO2e) was created. The carbon dioxide was chosen as the reference gas because it has the smallest GWP value. 

The deliverable includes use cases of GHG emissions, CO2 and CO2e. In order to avoid confusions, the unique term of CO2e only needs to be used and the relationship between GHG emission and CO2e needs to be stated.
Proposal: 
This contribution proposes to modify the first paragraph of the page 2 as follows:


“Climate change is internationally recognised as a consequence of anthropenic greenhouse gas emissions, which can be measured in Carbon Dioxide Equivalent (CO2e). Its standard unit is MtCO2e or metric tons or tons of carbon dioxide equivalent. The bigger scales of MtCO2e are thousand MtCO2e, million MtCO2e and GtCO2e which means giga metric ton of CO2e. The Kyoto proposal stated 6 major greenhouse gases: Carbon dioxide (CO2), Methane (CH4), Nitrous oxide (N2O), Sulfur hexafluoride (SF6), HFCs, and PFCs. Each has different Global Warming Potential (GWP) values for 100 years time horizon as follows:



Carbon dioxide (CO2)
= 1 CO2e




Methane (CH4)
= 25 CO2e



Nitrous oxide (N2O)
= 298 CO2e



Sulfur hexafluoride (SF6)
= 22,800 CO2e



HFC-23 (CHF3)
= 14,800 CO2e



PFC-14 (CF4)
= 7,390 CO2e

For example, 1 ton of Methane causes GHG emission by 25 MtCO2e. The GHG emission is presented in MtCO2e.”
3. Inconsistency of CO2 equivalent unit
Rationale: 
Various terms and definitions for CO2 equivalent specify its standard unit as “MtCO2e,” metric ton of CO2 equivalent. By this metric system, 1,000,000 metric tons of CO2e was presented as one million MtCO2e. That is, “M” of MtCO2e doesn’t stand for Mega, i.e. 106. But real use cases in relevant markets have often incorporate “M” of MtCO2e as Mega. For another example, the page 6 describes 

18 + 133 + 76 + 200/2 = 327 MtCO2e = 0.32GtCO2e


The “M” of this example stands for Mega and 327 MtCO2e is 0.32 giga metric tons of CO2e. This is a critical inconsistency problem. 
Proposal: 
No proposal. We have to resolve this critical inconsistency problem.  

4. Consistency of terms
Rationale: 
In the middle of the page 2, the “operational phase” is included in the first sentence. It is likely to be the “use” phase in the process of “extraction, production, transportation, use and disposal.” The report should avoid any confusion caused by duplicate terms for the same thing. 
Proposal: 
The “operational phase” should be changed into “use phase.” 
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